
ldlt ;xof]uL ;+:yf÷JolQm ;fdfu|Lsf] gfd kl/df0f O{sfO{

dfS; 100 lk;

;]lg6fO{h/ %)) Pd=Pn= 1 lk;

;fj'g 50 lk;

n'h Unf]]J; 50 lk;

1/6/2076 :jf:Yo sfof{no c=vfF= dfS; 150 lk;

12/21/2076 :jf:Yo sfof{no c=vfF= lk=lk=O{= ;]6 !$ lk;

12/21/2077 /fhg lj=l;= lk=lk=O{= ;]6 10 lk;

dfS; 300 lk;

;]lg6fO{h/ %)) Pd Pn 1 lk;

n'h Unf]J; 200 lk;

lk=lk=O{= ;]6 2 lk;

yd{n ug 2 lk;

n'h Unf]J; 100 lk;

yd{n ug 1 lk;

dfS; 200 lk;

12/22/2077 k|ltlglw ;ef ;f+;b dfkm{t dfS; 500 lk;

12/22/2077 RofDj/ ckm sd;{ c=vfF= dfS; 200 lk;

1/14/2077 RofDj/ ckm sd;{ c=vfF= dfS; 350 lk;

1/16/2077 >L zlz v8\sf dfS; 400 lk;

dfS; 250 lk;

n'h Unf]J; 100 lk;

yd{n ug 1 lk;

2/11/2077 lhNnf k|zf;g sfof{no c3f{vfFrL  - 

ufpFkflnsf cWoIf dfkm{t_

;xof]uL ;+:yf÷JolQmx?jf6 k|fKt :jf:Yo ;fdfu|Lx?sf] ljj/0f

12/13/2076 :jf:Yo sfof{no c=vfF=

1/23/2077 >L /fd k|;fb vgfn

1/20/2077 >L lhNnf /]8qm; c3f{vfFrL


